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public void hajimeru(Yiew view) {
Internt intent = new Intentigzetfpplication(],
MainZfct ivity.class):
intent.putExtra("Buiz”, Quiz.getBuiz(0));
starttct ivity(intent):
finish{j;
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public class Quiz implements Serializable {
int q_num;
String question;
String a_string;
String answer;
String secondanswer;

private static Quiz[] quizzez = new Quiz[4];

private Quiz(int q_num, String question,
String a_string, String answer, String secondanswer){
this.q_num = g_num;
this.question = guestion;
this.q_string = q_string;
this.answer = answer;
this.secondanswer = secondanswer;
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public static woid init(){
quizzes[0] = new Quiz(l,"B—RE","MIE". "apology”, "arolosy”};
quizzes[1] = new Quiz(1, "B ZR","%k", ice”, " ices™);
quizzez[2] = new Quiz(2,"EB=RE". "B o IC4iLy . "seldon”, "rare”™);
quizzez[3] = new Quiz(d, "EBMEE". "~ 2T,
“in spite of"."on behalf”):
ffauizzez[] = new Ouiz(,"88R",""."");
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public static Quiz getBuiz{int num}{
if (num »>= quizzes. length){
return null:
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return quizzes[num];

X2 QuizZ7ADOTar T A

(3) HeA & 70 2 R I AT D AR AL
(1) Tt L7z intent O putExtra &\ 9 B3
AN Quiz 7 T A CFHIOFFOM L 21T 9,
THIZEDY TextView IZHEAZFERTAHENT
&0, RITIREZFTHIALZD edit Text D71
VAN (N

Vocabulary Book

AHEEL

B3 R

ORI D IERHE



ZZTIET. edit Text AN EN-F%
THICAND, FLTQ) TENET—4 & ik
L CIERRHIE AT 9, JAVA SEED SCFH| el Tl
equals Zff 5, SENIZEZDPEBEHLFELHHD
T, if XD or Zffi> TEHEDE ZIZH X TE
HE9ICLT,

public void Jikkou(¥iew view) |
String str;
EditText et = (EditText) findViewBvId(R.id.editText);
str = et.zetText (). toStrire():
String str? = quiz.answer;
String str3 = quiz.secondanswer;
if (str.equals(str2) || str.oequalsistrdd) {
result.setText (TIE@");
soundPool .play{good_se, 1F, IF, 0, 0, 1F);
image¥iew? . setVizibility(¥iew.YISIBLE }:
final Handler handler = new Handler():
handler.postDelaved(() — |
imazeYiewZ.setVizibility(¥iew. INVISIBLE);
next (1:
T.onnnd;
et.getText (). clear();
ans.setYizibility(View.YISIBLE);
} else {
result.setText (" IERE"):
soundPool .play(bad_se, 1F, 1F, 0, 0, 1F);
image¥iew.zetYisibility(Yiew.YISIBLE };
final Handler handler = new Handler():
handler.postDelaved(() — |
imazeYiew.setVisibilitv(¥iew. INISIBLE):
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public void next() {

quiz = Quiz.zgetBuiz(quiz.g_num + 1);

if (quiz != null) {
ans.zetText (quiz. answer);
show():

} else {
Intent intent = new Intent

(zgetfpplication(). Maindctivity.class);

startfctivitylintent);
finigh{);

5 KROME~EDT 07T L

4. F&¥

SRk DREAMZE & LT, BAABLRD & >
7oy FR L0 o Te A~ R T 7Y OFWENT
X, ETHELLESTWS, ZLTEY KR
FITEMREDE TN D,

ZOT7 TV ENED ETREL -T2 FIE, AR
AT E DT EMENI R TH T, WATEE
BO ETIEHLIN, AFTRETSSTELLZ L
EENLEND, RAEDERIE DT EMRHK
7=

FE LI TR Z Lk, FREELEASOF
TR CRAREN TS SAHD LD
ZEThD, SBITL o LM EHIZE T, AL
IRl L HBEBEZFITTED L ORI AT N E
U7z,

5. Hehx

Eo TR TELS b hn T —n e
D ST IO DD DG 5 72 W K EERE
BWZHZTHHW, ETHEINh-oT-, BDNT
XETEERDOT, 2 DHIEZ OFRENFE DR
BRafE L, I XVWHDOEES THIEWE -,

6. &R

- KEE E (2015) [Java 226858 K 5 Androi
T I I Tl AT VA

- VRHE #RIE (2015) [1X U XL 9 Androidstuido

TTY7UERE] Vs T ran



